a F

BH MR

zlz

Tl

d g J

Q
_NHsClI L ona
B 2 f 3 B 4 @

5 5

LA BIL, HEELY bHNBTHL0 D, BEfkE LTITHT 5,

PR OKIZ LV MWERE N2 5 & BHERANERES S,

BHREK

i 6 HALSRAIDAKIETR (FeCla /KIFIR) £

&

[N

Hg .
5 7

= haRoPuE, bz Rk, BB - EEMNS
FRTBERELZ L IRVWEESFTHBED,

R




= R S & B—2
% &
e 2 i & A A
2]
5 1 T & A =
‘ BUSE Fe203 + 3CO — 2Fe + 3CO2
fi 2
BEOER IRFE DR
ek B3 =0 3L 2 — +4
Y 2Al + BHCI — 2AICI3 + 3H2
5 3
7Y
”;E;j‘fgz 2Al + 2NaOH + 6H20 — 2Na[Al(OH)4] + 3H2
R 4 Al203 + 2NaOH + 3H20 — 2Na[Al(OH)4]
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[12] % 10.0 mL = 0.100 mol/L x 18.0 mL % 0.5
(1) [12] = 0.0900 mol/L
= 0.090 /L
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Ri(a) 1A A 2mol 25 I UFHE 1 mol AT HDT,
[Cu?*] = 0.0900 mol/L x 2
(2) =0.180 mol/L
& 0.18 mol/L
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Ksp=[Ca® J[F > =0.10 mol/L x [F]>=4.0 x 107! (mol/Ly’
[F]= V4.0 X 10-10=2,0 x 10 mol/L
BaF, ML LG oH 5 7 vt A 4 B,
5 Ksp=[Ba®"][F ] =0.10 mol/L x [F]*=2.0 x 107 (mol/L)*

% 20 x 105 mol/lL < [F7] < 45 10 mol/L
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